FR OF BT [F D TIRIRE R

I (75 (3)) BB L1E I (38) FBLiE
BREIEHE Elik=3 ==X va NO. 1 NO. 2 NO. 3 NO. 1 NO. 2 NO. 3
H.19.1120 | H.19.11.20 | H.19.11.20 | H.19.11.20 | H.19.11.20 | H.19.11.20
HRIH L Cd |mg/kefzE1E <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
ST ED CN  |mg/kekz={E < <1 <1 <1 <1 <
ERIEIEEY O-P |mg/kgz={E <1 i3 i3 i3 i3 s
pis) Pb meg/kekz = B 14 16 14 14 16 14
iz 0l Cr6+ |mg/kefz =B < i3 i3 i3 i3 i3
e As meg/kekz = B 4.1 4.2 2.9 5.2 5.0 6.9
#KER T-Hg |mg/kgdz £ (B 0.17 0.07 0.26 0.20 0.24 0.12
T7ILEILKERIEEY Al-Hg |mg/kgBz E 1B <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
REIEEDT=—)L PCB |[mg/kefz =B <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
K5 H.O (% 7.1 11.6 11.4 12.0 9.2 8.6
EHI19OEEERIEE -ERAMTIZERERZR
E R I & =B EfRTE
REIEHE Elik=3 I=-Xiv) NO. 1 NO. 2 EER I NO. 3 NO. 1 NO. 2
H20.1.29 H20.1.29 H20.1.29 H20.1.29 H.19.11.20 | H.19.11.20

AINSPIN Cd |mg/kefzE1lE <0.1 <0.1 <0.1 0.1 0.3 0.3
UTALEY CN [mg/kefz 2B 1 4 4 4 — —
ERIEEEY 0-P _|mg/kelzEfE {1 4 4 4 — —
fie) Pb mg/kedz & B 5 4 5 10 — —
AN iZ=PN Cr6+ [mg/kelz= 1B < <1 <1 <1 — —
Atk As mg/kedz & B 2.2 2.1 2.3 5.9 0.5 0.7
87K &R T-Heg [mg/keBz E1E 0.07 0.06 0.06 0.06 — —
ZILEILKERIEEY Al-Hg |mg/keB2 £ 1B <0.01 <0.01 <0.01 <0.01 — —
RUEIEEDT=—)L PCB |mg/kezE1{E <0.01 <0.01 <0.01 <0.01 — —
BMEBE % 2.0 1.3 1.3 2.1 — —
JILRIAZIHUOHEYEEE =S mg/kedz & B <250 <250 <250 <250 — —
G Cu__ |mg/kezEfE 22 27 7 17 10 5
K7 H.O [% 26.9 23.6 27.4 33.3 40.9 40.6




